SAW HORSE FEATURE TABLE - BARNWOOD :: 289-SH-FT-BW

GRAND + BENEDICTS

ASSEMBLY
INSTRUCTIONS

GRAND + BENEDICTS 503.232.1988 | grand-benedicts.com PAGE 1 OF 3




GRAND + BENEDICTS SAW HORSE FEATURE TABLE - BARNWOOD :: 289-SH-FT-BW

PART LIST:
1X. TABLE TOP 2X. CROSS BAR 2X. LEG W/ LEVELERS
S
g
8X. SBHC SCREW 3/8"-16 X 0.625" 10X. SBHC SCREW 1/4"-20 X 2" 1X. L-KEY FOR 1/4"-20UNC

1X. L-KEY FOR 3/8"-16UNC

GRAND + BENEDICTS 503.232.1988 | grand-benedicts.com PAGE 2 OF 3




GRAND + BENEDICTS SAW HORSE FEATURE TABLE - BARNWOOD :: 289-SH-FT-BW

STEP 1:
SBHC SCREW 3/8"-16 X 0.625"

SBHC SCREW 1/4"-20 X 2"

LEG

CROSS BAR

TABLE TOP—

GRAND + BENEDICTS 503.232.1988 | grand-benedicts.com PAGE 3 OF 3




